

Ważne definicje oraz domy funkcji:

1) $y = \sqrt{\ln \frac{5}{x-3}}$
 $x-3 \neq 0 \wedge \ln \frac{5}{x-3} \geq 0$
 $x \neq 3$
 $\frac{5}{x-3} \geq 1$
 $\frac{5}{x-3} - 1 \geq 0$
 $\frac{5-x+3}{x-3} \geq 0$
 $\frac{-x+8}{x-3} \geq 0 \quad | \cdot (-1)$
 $\frac{x-8}{x-3} \leq 0 \quad \text{NB: } 3, 8$
 $D(f) = (3, 8)$

2) $y = \sqrt[3]{\log(x+2)}$
 $x+2 > 0 \wedge \log(x+2) \neq 0$
 $x > -2$
 $D(f) = (-2, \infty)$
 $\log \emptyset = 0$
 $\emptyset = 1$

3) $y = \sqrt[5]{\log(x-7)}$
 $x-7 > 0 \wedge \log(x-7) \neq 0$
 $x > 7$
 $x-7 \neq 1$
 $x \neq 8$
 $D(f) = (7, 8) \cup (8, \infty)$

4) $y = \frac{1}{\sin x}$
 $\sin x \neq 0$
 $x \neq k\pi, k \in \mathbb{Z}$
 $D(f) = \mathbb{R} - \{k\pi, k \in \mathbb{Z}\}$

5) $y = \sqrt{\sin x + \sqrt{9-x^2}}$
 $\sin x \geq 0 \wedge 9-x^2 \geq 0$
 $9 \geq x^2$
 $|x| \leq 3$
 $x \in [-3, 3]$
 $D(f) = [-3, 3]$

6) $y = \frac{1}{\cos 2x}$
 $\cos 2x \neq 0$
 $2x \neq \frac{\pi}{2} + k\pi, k \in \mathbb{Z}$
 $x \neq \frac{\pi}{4} + \frac{k\pi}{2}, k \in \mathbb{Z}$
 $D(f) = \mathbb{R} - \{\frac{\pi}{4} + k\pi, k \in \mathbb{Z}\}$

7) $y = 4\sqrt[3]{2x}$
 $x \geq 0$
 $\sqrt[3]{2x} \neq \frac{\pi}{2} + k\pi, k \in \mathbb{N}_0$
 $2x \neq \frac{\pi^2}{4} + k\pi, k \in \mathbb{N}_0$
 $x \neq \frac{\pi^2}{8} + \frac{k\pi}{2}, k \in \mathbb{N}_0$
 $D(f) = \langle 0, \infty \rangle - \{\frac{\pi^2}{8} + k\pi, k \in \mathbb{N}_0\}$

8) $y = \frac{x}{\cot 4x}$
 $4x \neq k\pi \wedge \cot 4x \neq 0$
 $x \neq \frac{k\pi}{4}$
 $4x \neq \frac{\pi}{2} + k\pi, k \in \mathbb{Z}$
 $x \neq \frac{\pi}{8} + \frac{k\pi}{2}, k \in \mathbb{Z}$
 $D(f) = \mathbb{R} - \{\frac{\pi}{4}k, \frac{\pi}{8}(2k+1), k \in \mathbb{Z}\}$

9) $y = \log_3(2\cos x - \sqrt{3})$
 $2\cos x - \sqrt{3} > 0$
 $2\cos x > \sqrt{3}$
 $\cos x > \frac{\sqrt{3}}{2}$
 $x \in \langle 0, \frac{\pi}{6} \rangle \cup \langle -\frac{11\pi}{6}, 2\pi \rangle$

10) $y = \arcsin(x+2)$
 $-1 \leq x+2 \leq 1$
 $-3 \leq x \leq -1$
 $D(f) = \langle -3, -1 \rangle$

11) $y = \arcsin \frac{3x-2}{5}$
 $-1 \leq \frac{3x-2}{5} \leq 1$
 $-5 \leq 3x-2 \leq 5$
 $-3 \leq 3x \leq 7$
 $-1 \leq x \leq \frac{7}{3}$
 $x \in \langle -1, \frac{7}{3} \rangle$

12) $y = \arccos \frac{1-x}{2}$
 $-1 \leq \frac{1-x}{2} \leq 1$
 $-2 \leq 1-x \leq 2$
 $-3 \leq -x \leq 1$
 $3 \geq x \geq -1$
 $-1 \leq x \leq 3$
 $D(f) = \langle -1, 3 \rangle$

13) $y = \arcsin(x^2-16)$
 $-1 \leq x^2-16 \leq 1$
 $15 \leq x^2 \leq 17$
 $\sqrt{15} \leq |x| \leq \sqrt{17}$
 $D(f) = \langle -\sqrt{17}, -\sqrt{15} \rangle \cup \langle \sqrt{15}, \sqrt{17} \rangle$

14) $y = \arctg(x+13)$
 $x \in D(f)$

15) $y = \arctg \sqrt{x+1}$
 $x+1 \geq 0$
 $x \geq -1$
 $D(f) = \langle -1, \infty \rangle$

16) $y = \arctg \ln \frac{x}{2}$
 $\frac{x}{2} > 0$
 $x > 0$
 $D(f) = (0, \infty)$

17) $y = \arccot \frac{1}{x-2}$
 $x \neq 2$
 $D(f) = \mathbb{R} - \{2\}$

18) $y = \arccot \sqrt[3]{\frac{x+1}{x-2}}$
 $x+2 \neq 0$
 $x \neq -2$
 $D(f) = \mathbb{R} - \{-2\}$

19) $y = \arccot \sqrt[4]{\frac{x+1}{x-2}}$
 $\frac{x+1}{x-2} \geq 0$
 $x \in \langle -1, 2 \rangle \cup \langle 2, \infty \rangle$

20) $y = \frac{\sqrt{x^2-x-2}}{\ln x} + \arcsin \frac{1-2x}{4}$
 $x^2-x-2 \geq 0 \wedge x > 0 \wedge -1 \leq \frac{1-2x}{4} \leq 1$
 $(x-2)(x+1) \geq 0$
 $x \in \langle -1, 2 \rangle \cup \langle 2, \infty \rangle$
 $x > 0$
 $x \in \langle 0, \infty \rangle$
 $-1 \leq \frac{1-2x}{4} \leq 1$
 $-4 \leq 1-2x \leq 4$
 $-5 \leq -2x \leq 3$
 $\frac{5}{2} \geq x \geq -\frac{3}{2}$
 $x \in \langle -\frac{3}{2}, \frac{5}{2} \rangle$
 $D(f) = \langle 2, \frac{5}{2} \rangle$

21) $y = \frac{\sqrt{x^2+4x-5}}{\ln(3-2x)} + \arctg(e^x+2)$
 $x^2+4x-5 \geq 0 \wedge 3-2x > 0 \wedge \ln(3-2x) \neq 0$
 $(x+5)(x-1) \geq 0$
 $x \in \langle -5, 1 \rangle \cup \langle 1, \infty \rangle$
 $3 > 2x$
 $x < \frac{3}{2}$
 $3-2x \neq 1$
 $-2x \neq -2$
 $x \neq 1$
 $D(f) = \langle -\infty, -5 \rangle \cup \langle 1, \frac{3}{2} \rangle$

22) $y = \frac{x}{\sqrt{2x+8}} + \arcsin(3x+10)$
 $2x+8 > 0 \wedge -1 \leq 3x+10 \leq 1$
 $2x > -8$
 $x > -4$
 $-11 \leq 3x \leq -9$
 $-\frac{11}{3} \leq x \leq -3$
 $D(f) = \langle -\frac{11}{3}, -3 \rangle$

23) $y = \frac{\log_2(3x+21)}{x^3-3x^2+2x}$
 $3x+21 > 0 \wedge x^3-3x^2+2x \neq 0$
 $3x > -21$
 $x > -7$
 $x(x^2-3x+2) \neq 0$
 $x(x-2)(x-1) \neq 0$
 $x \neq 0, 1, 2$
 $D(f) = \langle -7, 0 \rangle \cup \langle 0, 1 \rangle \cup \langle 1, 2 \rangle \cup \langle 2, \infty \rangle$

$ax^2+bx+c=0 \rightarrow x^2+px+q=0$
 $(x-x_1)(x-x_2)=0$
 $x^2-x_1x-x_2x+x_1x_2=0$
 $q = x_1x_2$
 $p = -x_1-x_2$
 (3,1) $x^2+2x-3=0$
 $(x-1)(x+3)=0$
 $x_1=1, x_2=-3$
 $x^2+7x+12=(x+3)(x+4)$
 $x_1=-3, x_2=-4$
 $x^2-x-12=(x+4)(x-3)$
 $x_1=-4, x_2=3$
 (2) $x^2+3x+4=0$
 $x^2+\frac{3}{2}x+2=0$
 $D=...$
 $x_{1,2}=...$
 $x^2-11x-12=(x+1)(x-12)$
 $x_1=-1, x_2=12$
 $x^2+8x+12=(x+6)(x+2)$
 $x_1=-6, x_2=-2$
 $x^2+x+2=(x+2)(x+1)$
 $x_1=-2, x_2=-1$
 $x^2+x-2=(x-1)(x+2)$
 $x_1=1, x_2=-2$